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QUESTION 1

Which statement on workflows is correct?

A. In a default configuration, a workflow must contain at least one session task

B. A workflow can contain multiple start points

C. In a default configuration, a workflow parameter file overrides all parameter files in underlying sessions
D. Another workflow cannot be executed from within a workflow

Correct Answer: C

QUESTION 2

Which port types are applicable to the Stored Procedure transformation?(Choose all that apply) Choose 3 answers
A. Input

B. Output

C. Variable

D. Return

Correct Answer. ABD

QUESTION 3

What is a pipeline lookup transformation?

A. A lookup created using a pipeline which contains a target

B. A lookup cache split over pipelines of a partitioned mapping

C. A lookup associated with the Source Qualifier or an Application source such as JMS or SAP
D. A pipeline lookup does not exist

Correct Answer: C

QUESTION 4
Subqueries can be used in the SQL override for uncached lookup transformations.
A. True

B. False
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Correct Answer: B

QUESTION 5

From within your folder, is it possible to make a non-reusable copy of a reusable transformation for use in a mapping?
A. Yes, by dragging the reusable object into your mapping and unchecking the Reusable checkbox

B. Yes\\' by first clicking the Ctrl key and then dragging the reusable object into the mapping

C. Yes, by first selecting the reusable object and while dragging the object into your mapping, hold the Ctrl key down
D. No

Correct Answer: C
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